




N = 2i

i – глубина цвета или сколько бит 

«весит» 1 пиксель
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N = 2i

i – глубина цвета или сколько бит 

«весит» 1 пиксель

I = K × i

I – информационный объем 

изображения

К – изображение в пикселях



i=4 бита  

N - ?

N = 2i

N = 24  =16 цветов



N = 16

i - ?  

N = 2i

16 = 2i  ; 

i=4 бита



самостоятельно



самостоятельно



самостоятельно



N = 2i

i – глубина цвета или сколько бит 

«весит» 1 пиксель

I = K × i

I – информационный объем 

изображения

К – изображение в пикселях



I = K × ii=32 бита  

К=1280*1024  

I-?

I = 1280*1024*32 битов =

: 8 = 5242880 байтов
: 1024 = 5 Мб

:1024 = 5120 Кб 

41943040 
битов



N=256  

К=512*512  

I-?

N = 2i

256 = 2i  ; 

i=8 битов

I = K × i

I = 512*512*8 битов =



самостоятельно



самостоятельно


